E12EILAOB 1= 7CHKIKILES 1085004 | 1385005
BHE M E S ZY ZY
=# FH205118 9R(R) FEREE ¥R BE =R 28.0°C 29.0°C
£ WOFNBERT—IL Ivka-4 Z N E KB 275°C 28.0°C
{B5F 8RUT]

IR 160 2L 3 46 5fL 6L 7L 8L
B | 25m | TOR TR 7 T A 8 T oMok 7 TRIT Thie 8 K Wk 7 RAEEE A T8 WA R 8
o HAHBAMN  20.07INAPIILL 22.77INAPILIH__ :26.07 /1A :26.25 [KSGILI ] :26.55 NAP(L1 1 :27.81|#I4ESC :30.84 B :32.91
® | 50m |0 FE— 8 G HE K 8 —il FEF 8 I D8 A LI 8 W BEE T == B s
4 NAPIO :38.88|NAPILH :40.10|[KSGHF 41.21 |[KSGHE|L| 142,93 |[KSGH|I| 4416 |[KSG T3] 44.65|KSGIl 1 46.74|NAPIlI [1 A7.41
# [25m [0 HR8 K WRE 7 L
5 NAPILIO 24.89|KSGILH__ :33.97 NAPIIJD :34.92] _
¥ [ som [HE LM 8 R —% 8 PR T == B s Z— 7

I%S*CT} bf:ﬁ —aL40 KSG# :53.17|KSGfl) :56.58 [NAPILI [1 :58.93|KSG [13] 1.07.12

;F 25m |KSGil_ :30.80 #/

¥ [som | HE— 8 I fC 8 mHE B 7 O BfE 8 RAEE
NAP(li I 51,16 |[KSGH|I| 5144 |KSGIl T :58.36 [KSG 3] 111,34 |NAPIL[1 1:16.67

S osm | K= 7

4 KSGf|l] 2299 . ]

5 | som|MAE HIR 8 —iH RV 8 R —%& 8 R H 7

1 NAPII 1 4117 |[KS Gl 48,09 [KS G 51,36 |[KSG1| :53.97

B ooml|/ i 8 Ba MO8 33 W BTE 7
2 NAPII 1 1:35.05[NAPII 1 1:35,92 [KSGHI 150,07 |[KSGIl 1 152,56

E¥ 9~101ﬁ£] 1 1 1 1 1 1 1

128 [FREE 142 21y 3y 4l S5y (53 7 8y
B | o5m ek TN 9 WA T2 9 TR %9 FIRE 9 Tl Juk 9 WIEl ast 10 [Pk W 9
o KSG# :16.87 [KSGF 18.79[132d 0 :19.04[FB% 0 19.12 1R :25.70 /Mg A/ :26.98 |/MEEA/D :28.30 ‘

2 [som|2k #A 9 JI KA 10 |KRI P 9 WEECT 10 ek KHE 10 [Feh IEK 10 [dUa Rk o(reln) [F Tk 9
4 KSGH :37.45 |KSGHE|l| :38.04|NAPIlI [1 :38.78 [KSGIif :39.12 [KSGiF :41.26[NAPIL [1 41,56 |[KSG|1| 41,56 |[KSG 3] A1.60
& |2om LA LK 9 T
5 KSGFH#_ :24.02[KSGHF 24,14 _

% |som| KRB &9 K SETR 9 N KB 10 e ORK 9
NAP(IE :50.76 IESG?%J :51.32 [KSGREl__ 53,19 |[KSG|1| :54.25
T | o5m |EH2 E 9 X9 A KB 10

M Hogaln  :25.70[KSGH 27.01 [KSG TR 2716 , _
¥ [som|0A #H 9 WEF/IT 10 WIE HAT 10 ks 9 R EK 10 FE e 9 MR R 9 PERLFERER 9
i NAPE 49.02 |KSGBYHF 50,11 |KSGHE[l| 51.24/KSG bf’%ﬂ 51.27|NAPIL LI 5151 |KSG [ :55.81 |KS G :56.07|NAPILI [1 :57.05
| 25m [HEELI 10 JER RKHE 10 LA JEIR 9 NI —L
4 KSGhHF :20.20/KSCIE :20.31 [KSGH_ 120.73|NAPLIT :22.71 [KSGF 4 :24.35
5 | 5om |NHT FhilE 9 Wl G 9 BEIF 75T 10 N KB 10 e ORK 9 HP A& 9
1 NAPIIL L :44.65|KSG B :46.97 [KSGi|l1 4742 [KSGHg /LI 48.73 |[KSGH|1| :52.93|KSG 13 :54.08

[ [oom|= A =N 9 REF &9 A BT 9 P25 S
2 KSGH 1:36,00[NAPI 1 145 55 |KSGUT 148, 74|KSG T 158,58

[BF 11~125]

IR kG 21 3 Al 5fL 6L 7L 8fiL
B |25m | oW 11 VA ST 7 T L 2 S S R
s KSG :17.01 [NAPIL 11 AT.61KBIFCER  :18.29UER/D 2142 /NEERD 2738] L _

# | 50m [ KHE 11 FE K 11 TR FESE 1 LA Eh 12 R MR 11 B ZF 1 MR SER WA W
4 KSGf|]] :32.27|[KSGFH :33.04|KS G|l :35.10|[KSGH|I| :35.18 |[KSGH|1| :36.15|NAPIL [1 :38.95 [KS G 41,05 | KFPC 41.23
%= | 2om |2 T T
5 KSG 19.95| i
% |som | KH N0 [EFR FEF 11 &y HE 11

KSGfl] :36.93 |[KS G|l 4147 [KSGFH :48.26
ﬂz 25m

% [som |1~ KHE 11 K L 11 LA EhE 12 MEERT 1 AR B 1 AR TR 11 Bl DI 11
i KSGfl] :43.26 |[KSGH|1| 4404 |KSGH|I| 47,06 [KS G 51,06 |[KSG|1| :59.10 /A 1:03.16 /B 1:03.85
s | 25m
2 [somPFE XEE 11 T R 11 BE s 1 Bk & 1
1 KSG# :37.69 |[KS G|l :37.87 |[KS Gl :38.18 |[KSG|1| 5148

B [ oom| A Jelh 12
2 KSGHIl 1.28.86




F12ELOBSa=7CifkikitiEs 1085004 | 138500%)
EHR B BB E X1E 2Y 2
SH FE20511A 9A(A) BRER g2 HE =8 28.0°C 29.0°C
£ WOH/NIERT—IL k-4 = I iz KB 27.5°C 28.0°C
[XF 8mLLT]
EREIRE 15 o 3T 2 5T 6 78 S
B | 25m [P0 8 EIEEEE R OIS PRI SEML 8 TR 8 TH PIL 6 ELEEa
M KBBFC “F'EJA :19;9/1 KASjC;x[[HIl( :20.50 Ij{:SGIIHII :22.20|NAPIL O :23.52 KSJ_GD:?E :23.90 KSGJﬁ(ﬁISi :24.01 KSG[IHILF :24.12|KSGLH :24.31
2 [som [EILFER SOk T 8 SRR 6 B0 7 I R 8 AT 7 I HE 8
KSGHifijll :38.43 INAPI [T :44.81|1KSGL :45.85 INAP|I [T :48.75 INAP [T :55.67 VNER A/ :59.66 INAP|LI [T 1:02.69 [#1kSC 1:06.63
% [25m|EA =08 T UAE 6 H ZIE 7
5 KSGlio _ :27.59 KAS7'C<}[II El( :30.48 |[WidkSC :33.29
% [50m [FRILMTETE s Bk 0 s fieIT R
KSGHifilll :46.38 INAP|LI [ :52.93 INAP|1I [T 1:09.30
F | 25m [EART 8 GRSz TR BE 7 SRR T
B KSGHFH} :29.69 |NAP( O :30.94 |[KSGIL EL; :34.01 [KSGH#E :39.58
% |som|TH =X 6 el W6 /NI 8 7
i NAPIL [ 1:09.56 INAP|LI 1:10.04 [NAPL 1 1:10.91
T 2om [P0 iz 8 R 27 5
2 KIBFCEM :23.30[KSG(li A :32.96
5 [s5om |®IT Reéa 8
A NAPI O 1:02;3/1
& 7 oom TR S0k 2 I [FT e
A KSGH#E[l] 1:35.69 INAP[L [ 2:25.15
[ZF 9~10%%])
BH ki 20 3L 4T% i i 7L 8fL
B |25m |0 R P OOkam|BA BZx 9 TR B 9 G2 JIPR Sl 9 Wl e 9 LI
M ey syRiin] :15.80 KSG;%IS :18.85 KSGIIID)( :19.15 KSG+ﬁIS :20.50 /J;EBX/) :24.25 /J\EEZ/J/;? :24.64 /J‘_EE?Z’% :29.24 __ _
® | 5om | AR E 9 NIEExF 9 W A 9 FIFT AL 9 —If R 10 A i TEEF fhf 9 BH hE 9
KSGFH :40.99 |KSGFHL 41.02|NAP 4141 |1KSGLH :42.98 INAPL T :43.18 |KSGHEL :43.20 |[KSGHEL :44.92INAP T :44.97
% |25m PR WP OKRMD[AA BE 9 KR A9 IR
5 6i5i57§)[l){<li! :18.30 KSG;%IS :22.36 [KSGF] :22.44 KSG+ﬁI€ :24.68 I
¥ [som[WH AA 9 NI~ 19 =& =W 10 M B 9 T RE 9
NAPIL[ :48.67 |KSGFHL :48. T3 INAP :53.71|KSG :55.19|NAP [ 1:02.34
E | 25m Yﬂﬁ‘ﬂﬂ%’f/b 9
5 KSG 2738 _ - I S— o — =
% | 50m |[PNHLRA T 9 I ERTE 9 PR T 10 FA B9 HA TR 9 BREL 10 BH HE 9 A A 10
KSGFH :51.03|KSG [ :52.82 [Hi{LSC :53.27 |KSGFHL :55.44 |KSGHE L :56.04|KSG :58.00|NAP|I [T 1:01.33 /AR 1:01.79
T 2om [P P8 SOAS MR BAE 9 W T 9
2 [Eeay=y/iifa] :17.80|KSG B :20.48 [KSGRiJif :25.48
5 | som|[FE EX 9 YRR 9 EE R
« KSG?%%_H :45.61 KSGE i} :50.78 QAP[IID :55.95 -
B [ oom R EL 9 A R 9 —F ZRWL 10 aA HR 9
A NAPIL O 1:40.02 |[KSG#i|L 1:50.47 INAP(L [ 15116 [KSG#|L 1:57.36
(% 11~125F]
BH 1%L 20 3L 4T% 5L 6L 7L 8L
g | 25m B4 11
o MIKsGIh b :16.41
% | som |[FREF AR TIOKRID[FR Wk 11 HF EF 1 FUKETEE 12 AFELT 1 O EF 12 MR Pfd 11 —HERD 1
NAPIL [ :33.26 [IF5B L 0 :35.42|KSG B :37.52|NAP :38.45 |KS G :39.94 | KSGFHL :40.89 |KSGL 1 :42.60 |[KSGHEL :42.68
7 | 25m
Z [som [LFELTT 11 MoK 12 EE mR 1
KSGﬁ“ﬁ,\\ i} :46.9_9 NAPIL [ :46.80 |[KSGHE L :48.65
% | 25m e fEE LLOREHD
5 Eo3Epln :19.91 I i {
% [som |[FRE R NORM[EE wE 11 FOKITRIE 12 BEA W1 HF EF 1 O Id 12 MR PR 11 WA P11
i NAPIL [ 4317135800 :45.25 INAP T :48.45 |[KSGL 1 :50.34|KSG B :51.39 | KSGFHE :51.66 | KSGLH :53.83 VNER A/ 1:09.06
% | 25m
3 [som|FB W% 11 =EEED 1
hf 3o lin :40.63 |KSGHE L :46.09
_{E 100m




